	Rule of 15 - Also known as "Pearson Points" or "Cassino Points", this refers to a secondary hand evaluation methodology when a hand does not have sufficient strength to open bidding using a traditional point count.  

Typically used by the player in the fourth (passout) seat, the player counts traditional High Card Points and adds 1 point for each Spade.  If the cumulative value is 15 or greater, the player should open the hand for bidding.   Some like the thought of competing vigorously enough to use the Rule of 15 in the third seat as well.
  

High Card Points
Minimum Spades needed to open the bidding
Sum

10
5

10+5 = 15

11
4

11+4 = 15

12
3

12+3 = 15

The Spades Have It — The Rule of 15
After three passes, you are looking at a borderline hand. Should you open, or pass hoping that your next hand will be better?

The answer is to use The Rule of 15:

Fourth hand should open if your HCP plus  number of spades totals 15 or more.
 
Remember, this applies only to borderline hands; you know what to do with good ones.

Why are spades crucial here?  You have limited strength and no one opened in front of you. You will therefore be waging a part-score battle in which you will want to outbid the opponents without getting too high. If you own spades, the opponents cannot buy the hand at the two-level.

Without spades, you might need to compete to the three level. The same is true for the opponents. If they want to compete over your 2[image: image1] bid, their two passed hands do not rate to make a nine-trick contract. The more spades you have, the safer it is to open.

What suit should you choose for your opening bid?  No problem! Open the bidding in the same suit you would have with a good hand.

Try the following examples to see how easy this is. Remember, add your HCP to the number of spades in your hand.

The auction has begun with three passes and you hold:


 [image: image2]  AJ74
 [image: image3]  K7
 [image: image4]  K942
 [image: image5] 1063
 

Open 1[image: image6].  11 HCP + 4 spades = 15.


 



 


 [image: image7]  AQ965
 [image: image8]  A87
 [image: image9]  52
 [image: image10]  943
 

Open 1[image: image11]. Use the Rule of 15. You have 10 HCP and five spades — a total of 15. You hope to make a low-level part score.

 

 

 


 [image: image12]  J2
 [image: image13]  AQ965
 [image: image14]  A87
 [image: image15]  943
 

Pass. With 11 HCP and two spades you should not open, even though this hand contains more HCP than the one above. You are concerned that the opponents hold spades, the dominant suit. Being able to make 2[image: image16] is worthless if they can bid and make 2[image: image17].
 

 

 


 [image: image18]  Q
 [image: image19]  KJ6
 [image: image20]  A542
 [image: image21]  Q8763
 

Pass. Your 12 HCP plus one spade total 13. Try your luck with some new cards.

 

 

 


 [image: image22]  73
 [image: image23]  A873
 [image: image24]  AKJ1064
 [image: image25]  2
 

Open 1[image: image26]. Only use The Rule of 15 when in doubt. With this lovely hand, you have no doubts.

 

 

Whether you are playing for masterpoints or simply for the satisfaction of beating your friends, you prefer plus scores to minus scores. The Rule of 15 is a simple yet reliable tool to decide whether or not to open up what might prove to be a can of worms. You need not feel squeamish when armed with spades.

The Rule of Fifteen - fourth seat openings.

 

 

 

 

 

Hand A 

Hand B 

Hand C 

 

 

 

 

 

 

♠

K10

♠

KJ1097

♠

76

♥
J108

♥
76

♥
KJ1097

♦
A863

♦
AQ76

♦
AQ76

♣

A1086

♣

76

♣

76

 

 

 

 

 

We have the rule of 20 for 1st and 2nd seat openers. In 3rd seat anything goes. But what do you do in 4th seat? 

 

 

 

 

 

Things are different here. Partner has passed, so you will not miss game if you pass dubious openers. Also, no need for light openers or pre-empts as you can simply pass out. If you have a doubtful opener, then the ♠ suit is all-important. If a part-score battle ensues then the side with ♠'s will win. This is taken into account by the rule of 15 for 4th seat openers. You add your point count to the number of ♠ 's that you hold. If the total is 15 or more, then open.

 

 

 

 

 

Hand A qualifies for an opener in 1st – 3rd seat but not in 4th seat (12 pts + 2 ♠ 's = 14). 

 

 

 

 

 

Hand B does not qualify for a 1st or 2nd seat opener but is fine in4 th seat (10 pts + 5 ♠ 's = 15). 

 

 

 

 

 

Hand C is Hand B with the majors reversed. It is only worth an opener in 3 rd seat. 

 

 

 

The rule of 15 is also known as Pearson points or Cassino points. 




 
 
Rule of 15: When deciding whether to open light in fourth position, count the number of high card points
and the number of spades, if he result is at least 15, you may open. This relies on the principle that you do not wish to open the bidding for the opponents. If you control the spade suit, adequately, they will not likely bid over you.

 

Rule of 15 

Conservative pass hand (hands with 11 HCP or less and 12 HCL points or less)  
Since this is a rule for whether you should open the bidding at fourth seat, the result of opening these hands should be better then the average pass out hands and better then the other side. The average number of tricks for hands just pass the rule of 15 is 8.8 vs. 8.2.

The first test is really not a fair test.  Everyone will open the hand with 15 HCP and void in spade. This type of hand will make the result bias towards the rule of 15.  Let us restrict ourselves to hands that satisfy the rule of 15 and have 11 or less high card length points. The average number of tricks for those hands is 8.478 with the other side taking 8.043 tricks.  It has positive score on 62.7%

Let us look at the worse case of 11 HCP and 4333 with 4 spades. The average number of tricks for those hands is 7.93 with the other side taking 8.103tricks. Wait a minute; the rule of 15 still wins in this case. Even though it makes less tricks but it has positive score 51.4%of the time. The reason is very simple. The rule of 15 produces a spade trump suit 33% of the time vs. the opponent having the spade trump suit only 10% of the time. When you have the spade trump suit you have a positive score if you can take the same number of tricks.  

Let us look at the worse case of 10 HCP and 5332 with 5 spades. The average number of tricks for those hands is 8 with the other side taking 8.3 tricks. The rule of 15 did not work in this case. It has positive score 49.4%of the time.  

Let us look at the worse case of 9 HCP and 6322 with 6 spades. The average number of tricks for those hands is 8.2 with the other side taking 8.7 tricks. The rule of 15 did not work in this case. It has positive score 46%of the time. 

Let us look at the second worse case of 9 HCP and 6331 with 6 spades. The average number of tricks for those hands is 8.43 with the other side taking 8.74 tricks. The rule of 15 did not work in this case. It has positive score 48.5%of the time. 

Let us look at the worse case of 8HCP and 7222 with 7 spades. The average number of tricks for those hands is 8.64 with the other side taking 9.1 tricks. The rule of 15 did not work in this case. It has positive score 47.5%of the time. 

Aggressive pass hand (hands with 11 HCP or less and 11 HCL points or less)  
This small change makes a big difference in some cases. The reason is very simple. There are 3 pass out hands and two of those are opponents. The better the pass out hands can be the less often you should open in 4th seat.
Since this is a rule for whether you should open the bidding at fourth seat, the result of opening these hands should be better then the average pass out hands and better then the other side. 

 Let us restrict ourselves to hands that satisfy the rule of 15 and have 11 or less high card length points. The average number of tricks for those hands is 8.3 with the other side taking 7.8 tricks.  It has positive score on 65%

Let us look at the worse case of 11 HCP and 4333 with 4 spades. The average number of tricks for those hands is 7.72 with the other side taking 7.84 tricks. It has positive score 52.1%of the time.  

Let us look at the worse case of 10 HCP and 5332 with 5 spades. The average number of tricks for those hands is 8 with the other side taking 8.3 tricks. The rule of 15 work in aggressive pass hand condition and did not work in the conservative pass hand condition. It has positive score 52.6%of the time.  

Let us look at the worse case of 9 HCP and 6322 with 6 spades. The average number of tricks for those hands is 7.97 with the other side taking 8.25 tricks.  The rule of 15 work in aggressive pass hand condition and did not work in the conservative pass hand condition. It has positive score 51.1%of the time. 

Hands with 12 HCP fails the rule of 15
I always open hands with 12 or more HCP and did not consider looking at those hands for the rule of 15 until Paul Hightower mention it in his post. Let us look at two worse case of 12 HCP hands that fails the rule of 15.

For 12 HCP, 2 spade and no 5 card suits  The average number of tricks for those hands is 8.45 with the other side taking 7.53 tricks. It has positive score 67.6% of the time for aggressive pass condition.  The average number of tricks for those hands is 8.56 with the other side taking 7.52 tricks. It has positive score 65% of the time for conservative pass condition.  

For 12 HCP, 1 spade and no 5 card suits (1444)  The average number of tricks for those hands is 8.98 with the other side taking 7.44 tricks. It has positive score 73% of the time for aggressive pass condition.  The average number of tricks for those hands is 9.13 with the other side taking 7.62 tricks. It has positive score 63% of the time for conservative pass condition.  

Should open all 12 HCP hands except very bad 12 HCP that is down graded to 11 HCP
   Rule of 15: 
When deciding whether to open light in fourth position, count the number high card points and the number of spades, if the result is at least 15, you may open. This relies on the principle that you do not wish to open the bidding for the opponents. If you control the spade suit, adequately, they will not likely bid over you. 
 
  Rule of 15 for takeout X: 
Count your HCP, add 6 for a void, 4 for a singleton or 2 for a doubleton in the enemy suit. Consider a X if the total is 15. as :
Spades: 3
Hearts: A Q 8 4
Diamonds: K J 4
Clubs: J 9 7 6 3
= 11 + 4 = 15 = X Shortest suit must be in enemy suit and must have 3 cards in any unbid suit. Contributed by Rene Theberge  
